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6.1
6.1.1
LNG

56.37m*/s
6.1.2
o 1#

o 3#

(m)

(m)

(m)

11 16:.00~12 17:00 0.75 -1.42 2.17
14 13:.00~15 13:00 0.46 -1.12 1.58
17 12:.00~18 13:30 0.12 -0.73 0.85
# 3# 4# 5 6
2
1.76m/s m m m

1# 250 193 1661

3 950 950 670

A# 987 770 1297

5# 987 469 1549

6# 0 0 1507
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7 (4#)
7.1
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7.2
0.6
0.6 0.8
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0.2
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0.5
7.3
0.5
30km’
30 35km’ 2.0
3km’
8
8.1

3x 350MW 23.4m°/s
6 4#
MW
(MW) (m¥s)
1 6x350+2x701F | 56.37 0.6 0.8 05
2 6x350+2x701F | 56.37 0.5 0.8 0.3
3 6x350+2x701F | 56.37 0.4 0.5 0.2
4 6x350+2x701F | 56.37 0.6 0.7 0.4
5 6x350+2x701F | 56.37 0.5 0.6 0.3
6 3x350 23.4 0.2 0.3 0.2
7 4#
(km?)
(m%s) >3 >2 >1 | =205
1 56.37 0.20 3.29 11.80 | 29.35
2 56.37 0.12 2.38 10.80 | 29.93
3 56.37 0.12 2.48 10.60 | 30.68
4 56.37 0.14 2.34 1095 | 2873
5 56.37 0.13 2.70 11.03 | 2845
6 23.4 0.14 0.54 3.73 14.28
ESE ENE 31.1% 23.4% 80%
18 32 3.3m/s 5.8m/s
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